Present Infinitive: Aorist Infinitive:

Active Middle/Passive Active Middle Passive
Strong Verb:
AeLTW: Aelmely  AelmeoPol ALTEly  ALmecPol  AeldBRvo
Weak Verb:
A0W: ADeLy ADecBaL ADooL AboeoBol  AvOfroL

Present infinitive: 1% p.p. stem + Connecting vowel + Active Ending | Mid./Pass. Ending
AeLT- € (-ew) [-ev] -060L
AV-

Aorist infinitive: 39 p.p.stem + Connecting vowel + Active Ending | Mid./Pass. Ending

Strong Aorist ALT- € (-ew) [-ev] -060L

Weak Aorist Avo- o (-ocL) -060L

Aorist passive: 6" p.p. stem + No connecting vowel + Active Ending
AeLpOn- VoL
AvOn-



